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All enactments of the court should be returned

OVERVIEW

727 inferred from this 7awn of 2o 1""977 72 awyn 93 that if it is PTMI RS we return
the found documents even if it is N1MxXn MY (as it is in a 7"2). Our Moo
reconciles this m1wn with seemingly contradictory views.

n1voIN asks:
= NIYIY 1Y 179903 90NT N9 2299 YUPN NIUN TN MMINN ON)

And if you will say; there will be a difficulty from this /mw» (from which 729
inferred that by 17 X% we are not concerned for w'"2> '3, even if nMxn M»W) to

"' who shortly states, according to one version -
=IPININ NDT 2) DY GN 10U N NN MIPVYT NIINT

That where it is D12 MW, we are @i even if it was not "2 '2 Y2117 -
- (3,07 91 M%) 2NAYNY NYND P92 PN 29N WHNT AN NINT NI 295 19

And similarly there will be a difficulty to X137 239 here, who was wwin (for "W "2
and "2 '2) even if it was not P17, and there will also be a difficulty to 28 who
was concerned for Prx° '2 in o9 TWNRT PO —

N150IN answers:
- DY IINN MIPYN PRY 177 125 NN NINYOINT 1Y 13597197 PNYS 13539 99N

And the >'"1 says they will establish the mwn» of 121 72 qwyn 95, where it was

found outside the 7''92, so there are no ny"x» N1 there, that is why we are not
v, but if there are NMxn M»Y we are Wi even if w'"2° "2 P17 RY -
= (3,n 97) RYINND N2IQT NIP P92 R¥TN2 NN 22N
And this is explicitly stated in the first 9o of 2''2 ndon -
=157 532 INSIIV 17 %2 AYYN DI NP 1 3R AN
And 1'"9 will answer, ‘does it say 7'"»2 wpn 9> which were found in 7''92 are to be
returned’
HINIAN NINYNT DIYY 23ND 991N 17 %2 HYyn Y

It merely states 7''>2 wwn %> are to be returned, but really it means that they

! According to the >»X7 XX on the '3 711y,
2 The story there was that there was a report that a pr¥> from X2v71p died in X°n90X. The issue is whether his wife
may remarry, or are we concerned for another prnx¥*. According to »2X we are concerned. See '0n there, prix® 7"7 that
it was a case of I XD NN W,
31" maintains that 1°w>n by nMxn MW even if Pima 82, how will he explain that 7awn of 371> 197 72 Awyn 93,
seemingly 7"2 nwyn were found in a 7"2 where it is nN1» MW, The Xn3 answers.
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were found outside of 72, where there are no n1"¥» MW therefore 71, however where
there are N1”1¥n MW the ruling will be 7°111° &5, for we are concerned for w"2 '2.

SUMMARY
Those who maintains that by n1"M¥» m1»w we are are wwn for w"2 '3, even if X7
1M, will establish the 73wn of 771> 72 nwyn 95 that it was found outside of 7" 2.

THINKING IT OVER

moon answers that it states clearly in »"2 that 7"2 7wyn 93 can be in a case where
it was found 7"2% y1. What was therefore mpoIn question, if the X3 answered it
already?!*

4 See oomm WA,
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